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INSTRUCTIONS

All questions are of objective type having four answer options for each. Only one option is
correct. Correct answer will carry full marks 2. In case of incorrect answer or any
combination of more than one answer, % mark will be deducted.

Questions must be answered on OMR sheet by darkening the appropriate bubble marked A,
B, C, or D.

Use only Black/Blue ink ball point pen to mark the answer by complete filling up of the
respective bubbles.

Mark the answers only in the space provided. Do not make any stray mark on the OMR.

Write question booklet number and your roll number carefully in the specified locations of
the OMR Sheet. Also fill appropriate bubbles.

Write your name (in block letter), name of the examination centre and put your signature (as
is appeared in Admit Card) in appropriate boxes in the OMR Sheet.

The OMR Sheet is liable to become invalid if there is any mistake in filling the correct
bubbles for question booklet number/roll number or if there is any discrepancy in the
name/signature of the candidate, name of the examination centre. The OMR Sheet may also
become invalid due to folding or putting stray marks on it or any damage to it. The
consequence of such invalidation due to incorrect marking or careless handling by the
candidate will be the sole responsibility of candidate.

Candidates are not allowed to carry any written or printed material, calculator, pen, docu-
pen, log table, wristwatch, any communication device like mobile phones, bluetooth etc.
inside the examination hall. Any candidate found with such prohibited items will be
reported against and his/her candidature will be summarily cancelled.

Rough work must be done on the question booklet itself. Additional blank pages are given in
the question booklet for rough work.

Hand over the OMR Sheet to the invigilator before leaving the Examination Hall.

This booklet contains questions in both English and Bengali. Necessary care and precaution
were taken while framing the Bengali version. However, if any discrepancy(ies) is/are found
between the two versions, the information provided in the English version will stand and will
be treated as final.

Candidates are allowed to take the Question Booklet after Examination is over.
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(as in Admit Card)

Life sciences | [ |INANARANICWTIN



PUBDET-2023
SPACE FOR ROUGH WORK / S (&S &) el

Life Sciences 2 %



PUBDET-2023
LIFE SCIENCE

1.  In wheat, which of the following combinations is correct ?
(A) Genus-Triticum, Family-Poaceae, Order-Poales, Class-Monocotyledonae
(B) Genus- Triticum, Family-Gramineae, Order-Poales, Class- Dicotyledonae
(C) Genus- Triticum, Family- Poaceae, Order- Sapindales, Class- Dicotyledonae
(D) Genus- Triticum, Family-Cyperaceae, Order-Poales, Class-Monocotyledonae

MR (@, (RS @ TR 7o ?

(A) % Triticum T@-TACE, IA-TATH, TR -EARBAS |
(B)  9-Triticum T@-gNE, IF-CACTEH, R-SIRFHeTeH |

(C)  *M9-Triticum T@-TACEH, IF-mfreem, EA-uEshrere |
(D)  Ao-Triticum TA@-IAZA, IH-TATTEA, A-ASOCASH |

2. Pneumatophores are modified branches of roots usually found in

(A) Xerophytes (B) Halophytes
(C) Pteridophytes (D) Epiphytes
AT 11 NSIEICER (Hefiefe W& frafefie @ ware Sfem wgeers m
(A) TEEREFIRGA (B) ZIICENFIZG
(C) TfRrerFEs (D) «f*reIEss
3. Ochreate stipule is the characteristic feature of which family ?
(A) Rubiaceae (B) Rosaceae
(C) Polygonaceae (D) Acanthaceae
FIGRES TA%@ (1 (A bifsfass ¢85 2
(A) R (B) TA&
(C) ffersmmt (D) «I=IE
4.  Which one of the following structures is of gametophytic origin in Bryophytes ?
(A) Capsule (B) Calyptra
(C) Seta (D) Sporogenous tissue
AR JAFIEER SR W FRoF S AMNNGIFIG (AT ?
(A) TP (B) e
(C) Pt (D) TGRS Fall

Life Sciences 3 %



PUBDET-2023

5.  Exalbuminous seeds mean
(A) Seeds having no storage food
(B) Seeds with storage food in endosperm only
(C) Seeds with storage food in cotyledons only
(D) Seeds with storage food in embryo only

ST Q1 IO et IS QI

(A) S A AT AWy (72

(B) A AT Ay BY ST TofFe
(C) ers A Amy vy g SoifFe

(D) e AT UMy vy T ToAfge

6.  Which one of the following plant is correctly matched with its three characteristics ?
(A) Pea: C; pathway, endospermic seeds, vexillary aestivation
(B) Tomato: twisted aestivation, axile placentation, berry
(C) Onion: Bulb, imbricate aestivation, axile placentation

(D) Maize: Cs pathway, closed vascular bundles, Scutellum

frgfefes wm Efenfs or fery foaf (RFIER MY Ads ©IR el ¢
(A) Il : C; A, qrEriiE |, gorF sisaRan

(B) BT : AT PG, T SISy, &

(C) THme : F%, EJCFO PP, SR SR

(D) I': C; Y, T7 AAPIANGH, FHA

7.  The process of photo-respiration occurs in which organelle/organelles ?
(A) Chloroplasts only
(B) Peroxisomes only
(C) Chloroplasts and peroxisomes

(D) Chloroplasts, peroxisomes and mitochondria
ferafeifre TRl TR SEre FOIEe 21 2
(A) SYTFRATS

(B) ®Y ARSI

(C) FAAS 8 ATSHAEIH

(D) THFIAAFS, ARSAEIT 8 MEHFAGIAS
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8. The correct sequence of electron flow in the light reaction is:
(A) PS-II- Plastoquinone — Cytochrome — PS-I — Ferredoxin
(B) PS -I- Plastoquinone — Cytochrome — PS-II - Ferredoxin
(C) PS -I- Cytochrome — Plastoquinone — PS-II — Ferredoxin
(D) PS- II- Plastocyanin — Cytochrome — PS -I — Ferredoxin

AR R SARG S7ES HoF @3 =:

(A) PI- 11> ATHFEEN - FEGEIE - 1937 - ST
(B) I - ATHFEEN — NI — P19 -11 - TSI
(C) I - MBI - ATBIFRE - A9 -11 - TFReET
(D) PAG- 1> ATHEIRTT - FRBETEN - 197 -1 - TFEeA

9. In angiosperms, endosperm development starts from a triploid (3n) nucleus that
results from fusion of which of the following ones ?

(A) Two synergids and one male gamete
(B) Three antipodal cells

(C) Two polar nuclei and one male gamete
(D) Two polar nuclei and one tube nucleus

BSAG! TEW 15 A qrer=y «1ow @ Game 3n) FefFa e v =, o1 ke
e s T Seeg =3 2

(A) 7ft MEARfeaT 8 qafb 72 aMicG

(B) foAfG SmfGretrere =

(C) 7o T FEfgar ¢ asfe 2 amess

(D) Wit T RSfgamt 8 S i g

10. Apomixis is a process that involves
(A) Formation of seeds by fusion of gametes
(B) Formation of seeds without syngamy and meiosis
(C) Formation of seeds with syngamy but no meiosis
(D) Formation of seeds without syngamy but with meiosis

AR 2 436 %S @AE

(A) vf5 fon o FIEs e ey Sty 29

(B) T@%a et Femst e Rraifea s Seom 2
(C) T e e RS 4w Seoiy 77 g e =g/t
(D) T 3<Fa e Faam == =1 fog Rl =z

Life Sciences 5 % (m]




PUBDET-2023

11. The Protozoa subkingdom is considered to be a part of

(A) Monera (B) Protista
(C) Animalia (D) Fungi
AT 2RI (3 MeTges Sl 77 ©f 7o

(A) T (B) A5
(C) wmfcsferan (D) =T@F

12. Where do we find alary muscle ?
(A) Surrounding the trachea of cockroach
(B) At the opening of the book lung
(C) Intwo sides of the heart chamber of cockroach
(D) In the locomotory organs of annelida
SIS T TR T T
(A) SRR Gifear st
(B) TF TATOWAE
(C) SRTAAR TWARER 1 @
(D) ESE i b WX

13.  Which protein is involved in the formation of spindle fibres during cell division ?

(A) tubulin (B) histone
(C) calmodulin (D) cyclin
Y Reem 797 Forwed © 1504 &= (@ (AT wrdt 2
(A) foegfm B) RroM
(C) GG (D) MEfF
14. Which of the following cell organelle is continuous with the outer membrane of nuclear
envelop ?
(A) Golgi apparatus (B) mitochondria
(C) endoplasmic reticulum (D) peroxisome
frafafie e senqefaa S @Eba a9« fNefFare R oM e I 2
(A) ot =g (B) GG

(C) «regEys &b (D) RIS
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Which one of the following genera has a true coelom ?

(A) Ascaris (B) Pheretima

(C) Sycon (D) Taenia

e (e s19- @9 e AT A B w2

(A)  SFFETT (B) PRGN

(C) MZP (D) Bfr

Which one of the following can convert ammonia or ammonium into nitrite ?
(A) Nitrosomonas (B) Nitrobactor

(C) Azatobactor (D) Mycobacterium

A I SR 1 SO & 2GR ARkfes S A ?
(A)  FRGIHCHT (B) VR@GIRIPCT

(C) SIEIHRIPCT (D)  WEFRAPOIFINT

An area of transition between two contrasting ecosystems is termed as
(A) Ecotone (B) Ecotype

(C) Ecesis (D) Ecad

w6 ot IpeEe sl HeFf BT 9o T

(A) B(FGH (B) Z[(FBIRA

(C) FFT (D) T

The pioneer species found in primary succession on rock is

(A) Protozoa (B) Lichen

(C) Pteridophytes (D) Gymnosperms

AT G T A AT s R e 3w

(A) ToICET (B) =

(C) TRrerweh (D) Te<e Sfen

The least productive ecosystem is-

(A) Estuary (B) Open Ocean

(C) Marshes (D) Tropical Rainforest
e AgeRefers 4 74 (A(F TN TLAMAA Tel

(A) T=A (B) & Wm

(C) @ (D) Jrawees 3E-w=ely
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20. The diversity of organisms sharing the same habitat or community is termed as

(A) alpha diversity (B) beta diversity
(C) gamma diversity (D) delta diversity
g IO A FFLATYS SR (BT el 7

(A) e (Foay B) TGty

(C) st ¢=foay (D) To=b! (dfoay

21. Antibodies in our body are complex

(A) lipoproteins (B) steroids

(C) prostaglandins (D) glycoproteins
SR >R SOFGAGTHIR e Sioel

(A) =ECACbT (B) THRTSH
(C) TEFSIEE (D) &I

22. Select the correct events that occur during inspiration :
(i)  Contraction of diaphragm
(i1)) Contraction of external intercostal muscles
(ii1) Decrease of pulmonary volume

(iv) Increase of intrapulmonary pressure

(A) (iii) and (iv) (B) (i), (ii) and (iv)
(C) only (iv) (D) (i) and (ii)
21T THGT 9T (X JdF WoArefe 9B

(i) LERAN (I

(i) B THRFHE (7FIF I

(i) FOTFTR TS ZF

(iv) ISs FTEIN IR I

(A) (iii) 93 (iv) B) (i), (i) ¥ (iv)
(C) ®¥(iv) (D) (i) 9= (ii)
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23. Myelin sheath is produced by
(A) Schwann cells and oligodendrocytes
(B) Astrocytes and Schwann cells
(C) Oligodendrocytes and osteoclasts
(D) Osteoclasts and astrocytes

e Jw tofs =%

(A) TIEH (I @ SfeaTeaGEs Qi
(B) SHICHMIEE 8 (I (I @il

(C) SACAGIRE 8 SFEEFTS Tl
(D) SFHSFFS 8 STHPISs Al

24.  Which cells of ‘Crypts of Lieberkuhn’ secrete antibacterial lysozyme ?

(A) Argentaffin cells (B) Paneth cells

(C) Zymogen cells (D) Kupfter cells

=551 oI% AL GF (A (FRefe T [yt ASeIees %99 303 ?
(A) SIRCEBIfe (P (B) AL (¥

(C) WIS (T (D) TATR N

25.  Which layer of the eye is maximally rich in melanin ?

(A) Iris (B) Pupil

(C) Retina (D) Choroid
SRR (I B0 FACH TR Al 7 2

(A) T (B) SRIEE
(C) Sl (D) IWAGH

26. Growth hormone belongs to

(A) Glycoprotein (B) Steroid
(C) Protein (D) Polypeptide
I 2 7 Gf6

(A) AT (B) THIT®
(C) TAfbs (D) AfeTa=GIET
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Which one of the following is not a part of nephron ?

(A) Henle’s Loop (B) Proximal Convoluted Tubule
(C) Distal Convoluted Tubule (D) VasaRecta

R (G TN el o™l 7 2

(A) TAER a4 (B) e Sveqme Gee

(C) o Froqoe Hekea (D) Sl =

Which chemical compound is used in blood bank to inhibit coagulation of donor’s blood ?

(A) Heparin (B) Sodium glycocholate
(C) Sodium citrate (D) Sodium taurocholate
FO-E (A I s nroR Te=erio T Afoxs (A ?
(A) T=eRE (B) TSN ARG
(C) TNCA-A2EGE (D) T SRR’
The primary function of cerebellum is

(A) Memory (B) Vision

(C) Hearing and body balance (D) Body balance
TR (IR -9F 2N *IRFFE I 2

(A) =3 B)

(C) ¥4 8 TM(RT SN (D) T™RT S

The hormone that stimulates milk secretion is

(A) FSH (B) LH

(C) ADH (D) Prolactin

VAR SIS I(F N TACAG &

(A) FSH (B) LH

(C) ADH (D) =g

The species of Bacillus used as bioinsecticide is

(A) Bacillus licheniformis (B) Bacillus subtilis

(C) Bacillus thuringiensis (D) Bacillus megaterium
Bacillus -93 T g&rifefb (era-sresar R 92 =23 b 2a
(A) Bacillus licheniformis (B) Bacillus subtilis

(C) Bacillus thuringiensis (D) Bacillus megaterium
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In gene regulation, regulatory domains of most activators interact with

(A) RNA Polymerase (B) Transcription factor complex
(C) Repressors (D) DNA binding domains

fere fazge Afeary, sfaie sysbrebes s Seleta A FE

(A) IR @ «q “AfeTRe (B) Grofe=5+ T3 A

(C) Frepm (D) & a7 g 2 oA

In the beads on a string model, the bead is made up of

(A) 6 histone protein (B) 8 histone protein

(C) 8 histone protein and DNA (D) 6 histone protein and DNA
e o P et Revete tod 27 faca

(A) 6 RCS b (B) 8 RCSm o

(C) 8 =RTHM ofiow 8 f& w7 @ (D) 6RTOM DTS & v @

Sickle cell anaemia results from

(A) Point Mutation (B) Chromosomal aberration
(C) Non-disjunction of autosome (D) Blood transfusion reaction
(A) D O, (B) TERICNICST™ SR

(C) BTSN T-fEaea (D) IGWICTF

Where does anti-codon reside ?

(A) m-RNA (B) t-RNA

(C) r-RNA (D) mt-RNA

FB-TFIC (AT SRFI (A ?

(A) m-RNA (B) t-RNA

(C) r-RNA (D) mt-RNA

Edible vaccine in banana is available in market against-

(A) Hepatitis- B (B) Influenza

(C) Tetanus (D) AIDS

FEAR W SRS (OIS Gl (A @7l A SRIY TR &7 A NS I 2
(A) T=RAIGIERGA-B (B) I FCa&!

(€) P (D) €T
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The antimicrobial enzyme present in tears is :

(A) Lysozyme (B) Ribozyme
(C) Carbozyme (D) Lipozyme
TG 2SR T SRS (BILd & eifge 2=

(A) =IRCTEIEN (B) WEEEEN
(C) A2 (D) eHErArenes
IgG antibodies are produced in human body by :

(A) T-cells (B) Plasma Cells
(C) RBCs (D) Platelets
TFRMR 1gG AfsRRefe (3 €2reR @I a3 29 :

(A) T-T?¥ (B) e
(C) TeiRe i (D) i

Which of the following bacteria is used in microbial fuel cell for the generation of
electricity ?

(A) Bacillus licheniformis (B) Aspergillus niger

(C) Leuconostoc mesenteroides (D) Shewanella putrefaciens

frfefee @ R R $Ea o (SIS e @E) O e SemEe
GHj 19 T ?

(A) Bacillus licheniformis (B) Aspergillus niger

(C) Leuconostoc mesenteroides (D) Shewanella putrefaciens

Conditions of a karyotype ‘2n + 1’ and ‘2n + 2’ are called :

(A) aneuploidy (B) polyploidy

(C) alloploidy (D) monosomy
2n+ 1’ @I 2n +2° 98 13 FNEEHIRA U TIFA(E I 7
(A) SRS (B) ffeigcafe

(C) AT (D) AR

Thalassemia is an autosomal recessive disorder. In case, both parents are carriers, then
what are the chances of occurrence of the disease in their offsprings ?

(A) 25% (B) 100%

(C) No chance (D) 50%

AR 2o GFB G [REhre-fEreek | 7 I--N TS AIAETER IS 24,
©IR(E OIS FBINIR WL AN R TSI 61 ?

(A) 25% (B) 100%

(C) TR 72 (D) 50%
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Genes located very close to one another on the same chromosome tend to be transmitted
together and are called as

(A) allelomorphs (B) identical genes

(C) linked genes (D) recessive genes

GFE TEFCAECH GF TR {7 IR S1Fe el e *7as e WS
B ATCF AR OIS =T Y

(A) SRR (B) SIS (identical) f&T=
(C) eYe (linked) &= (D) &% (recessive) f&rd
Which one is required for transformation of recombinant plasmid ?

(A) iodine (B) magnesium

(C) calcium (D) ferrous

(A) SICAIREH (B) IR

(C) Fh=ARAN (D) =™

Which of the following cells of the immune system do not perform phagocytosis ?
(A) macrophage (B) basophil

(C) eosinophil (D) neutrophil

BT PCB (I 1 TCEIEGIRE e st = e

(A) UGS (B) TACIP=

(C) SrfTAfee (D) oG

Anammox bactetia are used in sewage treatment plant to remove

(A) organic carbon compound (B) nitrogenous compounds
(C) heavy metals (D) fatty substances

SIS B sewage treatment plant @ RZe 2 fARfee @ @@= @ wobifte
FALT AT ?

(A) &I ol (B) WIZEIE 96w e
(€) o g (D) SRErS smid
Which one is used as vector in gene cloning ?

(A) Plasmid (B) Intron

(C) Exon (D) Transposon

R T TFAD & @i @7 & (937 R 397 =9 ?

(A) e (B) 3GH

(€) a3 (D) GrCAPE
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47. Down syndrome is usually the result of condition of chromosome 21.

(A) Monosomic (B) Trisomic

(C) Nullisomic (D) Double monosomic

TG @I LF® (GINE-21 @9 EE]]

(A) Monosomic (ﬂﬁmﬁ?ﬁ) (B) Trisomic (EW)

(C) Nullisomic (Fferfs=) (D) Double monosomic (IR AHMANF)
48. Callus can be triggered to form shoot by changing from which hormonal ratio ?

(A) auxin to gibberellin (B) gibberellin to auxin

(C) auxin to cytokinin (D) auxin to ethylene

JIAT TAE IS 15+ [FARS (T T SIS 2AR@SH 27 2

(A) S T ferrReafer (B) f&=RCafer (20T S

(C) S (AT ARGIFIRA (D) i T 2w
49. was considered as missing link between reptiles and birds.

(A) Archaeopteryx (B) Pteranodon

(C) Avimimus (D) Caudipteryx

W’@'ﬂ"f 8 “iif¥g e S o (missing link) 391 29 |
(A) wRe- R (B) TBAICeH
(C) et (D) FCABRRA

50. Inthe ABO system, blood group ‘O’ is characterised by the
(A) Presence of antigen A and absence of antigen B
(B) Presence of both antigen A and antigen B
(C) Absence of both antigen A and antigen B
(D) Presence of antigen O
ABO system -4 ‘O’ Wﬁf’f—‘-‘l_ﬂ'w
(A) A SFGCEH I9TH 8 B SIFGEH SO
(B) A 8B if6(s 12-2 I9W
(C) A 8 B SifF6(e 72-2 SRewA
(D) O HIFGTEE I
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O INET TR AT SREES 249 @2 Afel e sRib TRy Ted meh |E
I @ q@ AT | T Tew Hifee T 2 WA AR | TA Teq Hire Fw=
R qSifES Ted e T 1 777 IB! AE |
OMR @ A, B, C, D bfre 3= waft waib w3 e fare 2@ |
OMR (@ &3 fMre vyw@ JFIE I e Ffeld I 2F5 (71 IR FAE |
OMR ~(@ A2 ¥ =ISl S5 (IS (I Alel T |
OMR @ A8 B I 799 @2 e @@ 799 9 ARG AL f&re
TE qR A IR 770 FH00 =1 |
OMR (@ fAf2 B e 9N @ 2 AFECGEd 9 F4e @ @2 & (Admit
Card 9 S(A®) % IO T(J |
AIAN@T 99 A WA TH7 Ol oI W TA T B I, ANFAD A,
AAFFCR AN I THER @ O A Sede@ AMoa 2T @@ AT | OMR
*afs o =@ I OIS SHRHF Aol ~SAS IS =W @@ AR | w7 @8
@A TA A SPTOFOR T S6IUd AMeA (A qING AW Frere ok o
wE AR |
TIRIES TP A (T (I A SERGAS (S, FASE0F, AT, ANHIA,
oS, RAMa, JiF I FA RER OIfcTd! |, FAN ofiM AMFFCF S A |
A A AETAS TE@ G AT 62 AT T 2@ |
AU AF I I G ¥ GRS WA WM | O @A I 98 FR
JRRR FAE A |
AAFET RO Sl OMR 1@ G2 s M A |
a2 @ AG 8 A TN ONTeL N S SR | A WA 2 (oA
I ARG FARLTO! 8 HoFO! SReTgT T (AR | O Ag8 I T SR
F] AR, TPIOH(@ & N WeA o 3F 8 pos I [Rihbe 2@ |
SR AT ep=fafd N A |
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